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QUESTION 1

What are some typical administration tasks?
A. Remodeling

B. Request Archiving

C. Document indexing

D. System settings

Correct Answer: ABCD

QUESTION 2

DataStore objects are designed to store summarized transaction data. Determine the statement is True or False.

A. True
B. False

Correct Answer: B

QUESTION 3

How many dimension tables can the SAP BW system administrator create per Infocube?
A. 13

B. 16

C. 233

D. 248

Correct Answer: B

QUESTION 4

What functions has Data Warehousing Workbench (DWWB).?
A. Modeling

B. Reporting

C. Scheduling

D. Monitoring
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Correct Answer: ACD

QUESTION 5

Which of the following statements describe the advantages of CompositeProviders over the classic
MultiProviders/InfoSets?

A. CompositeProviders provide joins and unions with a single object.

B. CompositeProviders can also include joins to classic MultiProviders.

C. CompositeProviders integrate with all the BW InfoProviders.

D. A CompositeProvider can be consumed by another CompositeProvider.
E. Classic MultiProviders have to be recreated as CompositeProviders.

Correct Answer: ACD

QUESTION 6

You need to transfer delta data and ensure Full Quality of Service. You are using an SAP Business Warehouse Web
service. Which SAP Process Integration (SAP PI) adapter do you use?

A. SAP PI File Transfer Protocol adapter

B. SAP Pl ABAP proxy communication adapter

C. SAP Pl Remote Function Call adapter

D. SAP PI Simple Object Access Protocol Call adapter

Correct Answer: B

QUESTION 7

Why are DataStore Objects so important? Choose the correct answer(s).
A. They can overwrite data.

B. They store detailed data leaving Infocubes to store aggregated data.
C. They allow for raw uncleansed data to be stored for 3 months.

D. They easily integrate in the data flow.

Correct Answer: ABD

QUESTION 8
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Which of the following statements regarding Advanced DataStore Objects (ADSOs) are correct?
A. The keys of an ADSO can be a mixture of InfoObjects and fields.

B. Non-cumulative key figures cannot be included in ADSOs.

C. ADSOs can have up to 120 key fields.

D. A direct update ADSO does not have an Inbound Table or a Change Log.

E. ADSOs cannot be used as a source in a transformation for another ADSO.

Correct Answer: ACD

QUESTION 9

Which technology do you use to load data from Microsoft Analysis Services to SAP Business Warehouse?
A. Web service

B. Universal Data Connect

C. Database Connect

D. File interface

Correct Answer: B

QUESTION 10

To model the tracking history scenarios of historical truth and current truth, two different star schemas are required.
Determine whether this statement is true or false.

A. True
B. False

Correct Answer: B

QUESTION 11

Which of the following guidelines should be considered in an enterprise--wide implementation of BW on HANA?
A. How will the different data models be incorporate

B. Utilize the LSA++ layers in the design of the EDW

C. Which languages and currencies will need to be considered

D. What will the system and transport landscape be comprised of
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E. Which users will be logging onto the system

Correct Answer: ABCD

QUESTION 12

Which of the following is required to perform currency conversion in an SAP HANA information model?
A. An innerjoin is required between the Open ODS View measures and the exchange rate table

B. A set of technical tables are required to store currencies and exchange rate types and rates

C. Setting a semantic type to a measure so the amount always includes a currency

D. Storing the currency and the exchange rate on the day of the transaction will improve performance
E. An interface to define how the currency conversion should be processed

Correct Answer: BCE

QUESTION 13

Using the Remodeling Toolbox, InfoObjects can be changed without having to delete or reload master data. Determine
Whether this statement is true or false.

A. True
B. False

Correct Answer: A

QUESTION 14

Modeling with SAP HANA, you can use a virtual table in a view. Which of the following are advantages of this virtual
data model?

A. Fewer objects are needed

B. The model is highly flexible
C. The data footprint is reduced
D. Data is only replicated once
E. The data is always up to date

Correct Answer: ABCE

QUESTION 15
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The productive BW system is always defined as a closed system in which changes can only be made by importing a
transport. Determine whether this statement is true or false.

A. True
B. False

Correct Answer: B
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